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Simple Model: Free Entry

• Static Melitz versus Helpman-Krugman, no innovation

• Profit:
π(z) = κπW 1−ρY · z

• Helpman-Krugman:
(FE)

• Melitz:
(zd)

(zx)

(FE)
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Simple Model: Equilibrium Comparative Statics

• Aggregate productivity: Z ≡
[
M
(
Zd + (1 + D1−ρ)Zx

)] 1
ρ−1

• Real wage rate: W = ρ−1
ρ Z

• Output: Y = Z (L− Lr ) and Lr/L = const

• Helpman-Krugman:

• Melitz:
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Simple Model: Envelop Theorem

• Free Entry Condition:

ne =

∫
zd

{[
1 + I (zx)D1−ρ

]
π(z)− nf − I (zx)nx

}
π(z) = κπ(L− Lr )Z 2−ρ−λz

(λ+ ρ− 2)Ẑ = sx D̂1−ρ + 0︸︷︷︸
ET

• Direct versus Indirect Effects:

(ρ− 1)Ẑ = sx D̂1−ρ︸ ︷︷ ︸
direct

+
[
M̂ + φd Ẑd + φx Ẑx

]︸ ︷︷ ︸
indirect=(1−λ)Ẑ
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Comments: Limits of the Result

1 Average entrant versus average firm:

(λ+ ρ− 2)Ẑ = s̃x D̂1−ρ, s̃x 6= sx

2 How special is CES?
— Uniform profit shifter: W 1−ρ−λY = Z 2−ρ−λ(L− Lr )
— Equilibrium is first best

3 Constant Lr/L:

Lr

L
∼ Expenditure on research good

Revenues

4 Large changes in D:

dsx/dD1−ρ depends on the model
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